
SY=(YE_maX-YE_min)/(Yr_maX-Yr_min);

line (XE.(Xr_min), YE (0) ,XE (Xr_max), YE (0));
line(XE(O),YE(Yr_min),XE(O),YE(Yr_max));

//u=constari't

pasu=(u max-u min)/20;
past=l. 7Sx; -

for(u=u~~in; u<=u_max;u+=pasu) {
for (t=v_min; t<=v_max;t+=past)

putpixel(XE(XP(fl(u,t),f2(u,t),f3(u,t)),YE(YP(fl(u,t),f2(u,t),f3(u,t))),12) ;}

getch () ;

//v=constant

pasv=(v max-v min)/20;
past=1.7sx; -
for (v=v_min; v<=v_max;v+=pasv) {

for(t=u_min; t<=u_max;t+=past) .

putpixel(XE(XP(fl(t,v),f2(t,v),f3(t,v)),YE(YP(fl(t,v),f2(t,v),f3(t,v»)), 14);
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